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Note :This paper contains Seventy five (75) multiple-choice, assertion/reasoning/

matching questions, each question carrying TWO (2) marks. Attempt All

the questions.

A 2L WU HAAR (9w) cglsedly usdl, Wl 2 WSS erlddl el
B, My Halil el vl 8. Ads w4 () @ 8,

1. Which branch of Political Theory is
anchored in  sophisticated

mathematical reasoning ?
(A) Rational choice theory
(B) Postmodern theory
(C) Post-Marxist theory
(D) Interpretive theory

2.  Who among the following thinkers
did not contribute to the resurgence

of political theory ?
(A) John Rawls
(B) Michael Walzer
(C) Eric Voegelin
(D) T. D. Weldon
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Democracy may pose a threat to

liberal norms through :
(A) The rule of law

(B) Majoritarianism
(C) Constitutionalism
(D) Tolerance of dissent

The principle suggested by

difference feminists as an

alternative to justice is :
(A) Gender

(B) Care

(C) Common good

(D) Merit

The theory of justice as fairness’

does not accord a positive role to :
(A) Liberty

(B) Rights

(C) Equality

(D) Utility
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6. Communitarians criticise liberal §. aﬂg[qqlﬂa’ﬁ 4yl Gelaxdaisl

theories of justice for assuming that Reudadidl A srenz Ry 53 8

the individual self is : % aell etz ouni " ABdel 2’
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7. Classical conservatism emerged as
7. wro{ly 3RyYdiaie A+l wlalu 31

a reaction to :

Geoici ?
(A) The Glorious Revolution

(A) dilzun’ sily
(B) The American Revolution

B) »iAR4 sila
(C) The French Revolution

(C) % sila

(D) The Russian Revolution

O 2w+ sila

8. The major initiative that Mao

launched to accelerate China’s 8. Al Qs afad asiral we

development was : il 568 gw yde 531 ?
(A) Long March (A) aiell s

(B) Cultural Revolution (B) irglas sild

(C) Great Leap Forward (C) Al izl sesl

(D) Four Modernizations D) 4R suglAslsel
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9.

10.

11.

Aristotle thought slavery will end

when :

{A) Democracy will be established
throughout the world

(B} Men and women will be treated

equally

(C) Human beings will revolt

against it

(D) When the spinning wheel will

move on its own

Which State Constitution in the US
did John Locke help to draft ?

(A) Washington

(B) Vermont

(C) Carolina

(D) New Hampshire

What is the meaning of Praxis in

Marxist thought ?

(A) Unity of Ideas

(B) Unity of Theory and Practice
(C) Theory in Practice

(D) Practice based on Theory
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12,

13.

14,

Which pair is correctly matched ?

(A) V.D. Savarkar—India’s First

War of Independence

(B) M.N. Roy—Annihilation of
Caste

(C) Aurobindo Ghosh—India in

Transition
(D) B.R. Ambedkar—Savitri
The

broader framework of

Machiavelli’s political thought was :
(A) Civic Humanism

(B) Roman Catholicism

(C) Cynicism

(D} Stoicism

Karl Popper considered Rousseau to

be a precursor of :
(A) Environmentalism
(B} Totalitarianisﬁ
(C) Conservatism

(D) Anarchism
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15.

16.

17.

Which concept played a central role 15,

in the final phase of Aurobindo

Ghosh’s career ?

(A) Spiritual evolution

(B) Hindu nationalism

(C) Armed revolution

(D) Liberal internationalism

When does the ‘Prime Ministerial’

government become ‘ministerial’ 16

government ?

(A) When Prime Minister has a

strong personality

(B) When ruling party has a clear
majority

(C) When there is a coalition

government

(D) When there

programmes within- party or

is unity on

government

Karl Marx’s theory of structuralism 17.

does not give importance to :
(A) Mode of production

(B) Class

(C) Surplus value

(D) Forms of government
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18. Easton’s approach does not
emphasise which of the following ?
(A) Equilibrium
(B} System as basic unit of analysis
(C) Stability
(D) Ability of system to change
itself in relation to environment
19. According to Dr. Zakaria, if
Constitutionalism does not precede
democracy :
(A) It will result in minority
governments
(B) It will result in coalition
governments '
(C) It will result in healthy
democracy
(D) It will result in illiberal
democracy
20. Which of the following is a
completely non-elected Second
Chamber ?
(A) US Senate
(B) Rajya Sabha
(C) House of Lords
(D) Australian Senate
Poli. Sei. 110
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21.

22,

23.

Which of the following is not

required for constitutional

amendment in a federal system ?
(A) Approval of Second Chamber

(B) Approval of legislative
Assemblies of states

(C) Consent of Second Chamber of
central legislature and of state
assemblies

(D) Special elections called for the
purpose

Which of the following is an
example of ‘modernization with
democracy’ ?

(A) Hitler's Germany
(B) Russia under Peter the Great

(C) Turkey under Mustafa Kamal
Pasha

(D) Japan in the post Second World
War period

Concept of ‘Elitism’ is not associated
with :

(A) Mitchels

(B) Robert Dahl
(C) Pareto

(D) C. Wright Mills
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24. ‘Delegated Legislation’ is :

25.

(A) Power of law making delegated

to executive by legislature

(B) Power of law making given by
executive to legislature on

certain subjects

(C) Rule making power given by

executive to higher civil service

(D) Rule making power given by
higher civil service to lower
civil service

A second chamber cannot perform

which of the following functions ?

(A) It can provide high quality

debates

(B) It can be a useful rivisionary

chamber

(C) it can remove government by

vote of no confidence

(D) It can provide representation to

views and interests of states
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26.

27.

28,

In institutional approach to
comparative politics, which of the

following is wrong ?
(A)
(B)

Institution is the primary actor

Individual interests and actors

do not matter

(C) Institution does not have a

purpose of its own

(D) The approach does not give

importance to micro details

In the literature on political
modernization, which of the

following is not emphasized ?
(A) Stability

(B) Order

(C) Progress

(D) Change in developing societies

through non-weéstern way

Interest groups do not perform
which of the following functions ?

(A) To influence Parliament
(B) To influence executive
{C) To influence civil service

(D) To capture power
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29. ‘Arab spring’ provided evidence of

30.

significant impact of which of the
following ?

(A) Films

(B) Internet
(C) Television
(D) Print media
the

Arrange following in

chronological order and use the

codes given below :

(i) Kesavanada Bharti Case
(i) Golak Nath Case

(#{) Minerva Mills‘ Case

(iv) Sajjan Singh Case
Codes :

(A) @D, G, Gv), ()

B) ), Gv), (), (i)

(C) (), Gi), (@), CGii)

(D) (i), o), i), ()
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31. About the office of the President,
who said, “The Constitution wants
to create neither a real executive
nor a mere figurehead, but a head
that neither reigns nor governs : it
to

figurehead..........
(A) Dr. B.R. Ambedkar

(B) Dr. Rajendra Prasad
(C} Dr. K. M. Munshi

(D) Shri Jawaharlal Nehru

wants create a great

32, Secularism in Indian Context

means :

(A) Opposition to religion in state

matters

(B) Equal treatment to all religions

by state

(C) Hinduism as the religion of the

state
(D) Fundamentalism

33. Fundamental Right are enforceable

by the courts because of the
provision in :
(A) Article 14
(B) Article 19
(C) Article 21
(D) Article 32
Poli. Sci—ITI
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34. Which of the following statements

35.

1S correct about extension of term

of Parliament ?

(A) It can be extended by an Act

of Parliament itself

(B) President can do so by an

ordinance
(C) Extension can continue
automatically  till the

emergency ceases

(D) Extension of term is never

required

India is not an ideal type of

federation because :

(A) States are dependent on centre
for financial help

(B) Factionalism is rempant in

state parties

(C) Elected Government of a state

can be dismissed by centre

(D) Some of the states supported
setting up of National

Investigating Agency
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36. Match List I with List 11 and select

the correct answer from the codes
given below :

List I List II
(Name of Institution) (Article of the
Constitution)

@)
(i2)
(fii)

(iv)

37.

(@) Article 148
Finance Commission (B} Article 280
UPsC (e} Article 316
Comptroller and Auditor (d) Article 324
General of India

Election Commission

Codes :

@ @ @) G
A @ @ (a) b)
B) & @ (@) (d)
(C B (© ) (a)
D @& b {c) (a)

Match List I with List II and select

the correct answer from the codes

given below :

List I List 11
(Name of Directive (Article in the

Principle) Constitution)

()

{ii)
(EEi)

(iv)

Separation of Judiciary (e) Article 49
from Executive
Uniform Civil Code
Organisation of Village

(6) Article 40
{c}) Article 50
Panchayat

Protection of Monuments (d} Article 44
of National importance

Codes :
@ @ G G
A B d @ (@
B B (& @) (@
(Cy ®) (o d) (a)
D @ @ @) ()
Poli. Sci 11T
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{&)
()
(Eit)

(iv)

37.
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{iif)

(iv)
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38.

39.

The study of state politics as an
autonomous discipline has been

primarily an outcome of :

(A) Rise of regional parties

(B) Decline of national parties
(C) New local governance system
(D) Non-party political movements

Which group of states have a

bicameral legislature ?

(A) Rajasthan, Uttar Pradesh,

Karnataka, Tamil Nadu

(B) Bihar, Jammu & Kashmir,

Uttar Pradesh, Karnataka

(C) Bihar, Uttar Pradesh, Andhra

Pradesh, Goa

(D) Rajasthan, Jammu & Kashmir,

Tamil Nadu, Karnataka

Poli. Sci~IIT
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40. Match List I with List II and select  40. ~(1 20del Al T 24 A II 4

the correct answer from the codes Aadl i eulde sisHidl waAl wus
given below : YAE 53
11
List I List II Wl 1 3l
(Phases of Panchayati Raj) (Years) ('ll,l‘l_lllcﬂ ?;l‘U"ll (q‘ﬁ)
Aol 5tiL) '

(i}  Phase of ascendancy {a) 1969-1983 o -

G (Ul doissi (@ 1969-1983

(ii) Phase of stagnation (b) 1959-1964 i [ial 2l '{‘l l'lc‘l.&ﬁ-\l T R

{iii) Phase of decline {c} 1965-1969 i uSdl ‘ﬁ | U

G R el e gl ) YUl iS5l @ 1983-1989
Codes : sis

@ @ G Gv) @ G GG G
a4 @ B (@@ {c) (A (@ @) (@ (c}
B &) (@ (c) (d) B) &) (@) (c) (d)
© ® © @ @ © & 0 @ @@
D @ @ ®& (@ D ©© @ @& @

41. Which of the following is not 41 19 APl wuaddl e
included in the list of 29 items [Qorti-ll wielni 1A A4 - wuda
included in 11th Schedule ? 2l udq ?

(A) Agriculture (A) &M

(B) Land Reform (B) oM yuiew

(C) Public Distribution System (C) e [d@t cuare
(D) Education at college level (D) sldy w2 [aal

Poli. Sci—IT 18




42.

44,

Which of the following is incorrect ?

(A) Akali Dal—Punjab

(B) Samajwadi Party—Uttar
Pradesh
(C) Trinmool Congress—Tamil

Nadu

(D) Telugu Desam Party—Andhra

Pradesh

Which of the following is not a

pressure group ?
(A) FICCI

(B) CII

(C) TDP

(D) AITUC

Which of the following, according to
Schulz, is best for electing members

of elector’s choice ?

(A) Gerrymé.ndering

(B) Single transferable vote system
(C) List system

(D) Proportional Representation

System

Poli. Sei—ITT
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42.

44,

A gl 5§ ALl wAl Al ?
(A) usdl e — sy

(B) AMIFUEl Y& — GdR New
(© qaye sidA — difd-ug
D) dgI BAN 48 — iig U
A U4l sy soum ogm -l ?
(A) 8lsdl

B) qL.2US. 28,

© d.sldl.

(D) »udes

yeorl BB, ddeli-l waiedll-u
Glealzin dedl w2, 1A Y4
ygla sl & ?

(A) Fu-sloa
(B) s doglell Yl Hd oqeral
(C) YA

O wdM: wAka g

[P.T.O0.]




45. Given below are two statements, one 45. {12 6] [Rded »ua] {9 W [QaL

labelled as Assertion (A) and the
(A) 21 oflogtt 51281 (R) 23, ~id 20

other labelled as Reason (R) :

£ -
Assertion (A) : India has tried to
make its elections [a.ill"l (A) . G{Ha &"ﬂ QLZ'Qﬂ%fl:t
free and fair Y5l -*’J'l.'.'}. Yl szl

Reason (R) : There should be siiv s30 8.

complete ban on

siR@ (R) : 4ol yuaui auld 2
the use of caste

and religious q aala siauini
appeals in election - Guyia uR Ay ulasiy
compaign

sial A,
Identify the correct answer :

(A il sy ol WAL © 7
(A} Both (A) and (R) are true and

(R) is the correct explanation (A) (A) %L (R) ol WAL 8 2 (R)

of (A) (A) «Ul AL vl 8

(B) Both (A)EMEu(R) arg true (B) (A)»A (R) oA i ® 213 uig

but (R) is not the correct L . .
(R) (A) +il 0l el el
explanation of (A)

(C) (A) is true but (R) is false (€ (A) WY & ua (R) Wg 8

(D) (A) is false but (R) is true D) AW Wig & uw (R) Wi 8

Poli. Sci.~III 20




46. The principle of unity of command

47.

says that :

(A} An employee should be
subjected to the orders of more
than one superior

(B)
to one subordinate only

(C) An employee should receive
orders from one superior only

(D} All the units of an organisation
should be integrated under the

authority of one head only

Which of the above alternatives is
correct ?

Which of the following statements
are correct about human relations
theory of organisation ?

(1) It challenges the classical

concept of economic man.

(2) It holds that every person is

different.

(3) It holds that every person

works as a part of a work group.

(4) It considers the human aspects

of the organisation in addition
to the mechanical aspects.

(1), (2) and (3)
(1), (), (3) and (4)
{1) and (3)

(1), (2) and (4)

(A)
(B)
(C)
D)

Poli. Sci.—IIT

A superior should give orders .

21

46.

47.

“aiiearll Asdl’’ A Rigiani MRd

85 :

(A) s sefl asl Gul gz
Alee ULl A5

Gudla ddl QAL WA ¥is
sHAA 22U ANAl ASA

s A s o QU wiul
e HUadl Adu

AOLSAl dHIM Vsl s Ml
d6t s ydi Ao

Gu-t [Qsedi 44 sui = & 7

(B)
(C)

(D)

Aotgrll ““Hiea RAeigl’’ QRenat-l
Aeel A2 Ul 5§ Qaint wa & ?
(1) Q Ul yra wella Rigidn
YssiY 6.

d Ag WA D 3 e35 Al3d il
Ad et &,

d g A D % e3s ABa As
silogu-l oL 30 siM 53 B,

(2)

(3)

d AosL WiBLs Guvid Hidly
Y wel awaAul @ o,

(4)

(A) (1), (2) ¥ (3)

B) (1), (2), (3) 14 (4)
(C) (1) M (3)
D) (1), (2) w1 (4)

[P.T.0.]




49,

50.

Who among the following are the
authors of the book, “Reinventing
Government” ?

(A) Bower and Christenson
(B) Garson and Overman

(C) David Osborne and Ted
Gaebler

(D) Alan Campbell and Louis
A. Allen

....... the general principle of
Constitution......... are with us as the
results of judicial decisions
determining the right of private
persons in particular cases brought
before the courts.” The above
statement deals with the doctrine
of :

(A) Judicial Review

(B) Administrative Adjudication
(C) Droit Administratiff

(D) Rule of Law

Through which of the following is
the judicial control over the
administration in India exercised ?

(1) Adjudication

(2) Judicial Review

(3) Writs

(4) Public Interest Litigation

Select the correct answer using the
codes given below :

(A) (1) and (4) only

(B) (3) and (4) only
(C) (1), (2), (3) and (4)
(D) (2), (3) and (4) only

Poli, Sei~IIT
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A U8 su dwsial RS-
N2 Ys avy @ ?

A) olidR v Rerun

(B) OURAA ¥l iqH

(C) 3[s iluel-d A 25 aBleEr
D) e HUd 2 4o 2. 2aq

“Ulgsu ABAAL s Aed]
Vel ANS H5UUL 20dal AT i
w5 FR{d 53l ~dls
Ysielin SIRQ o At ALY
Rigidl 2uuell wad 8...”

Bud Qe su Rigid Al Asoudg
& ?

(A) ~udls wlau

B) adladl ~uaulzyl

©) side sy

M) seld wan

oMl 1A U AL gl wuda
SIGUIL 4 A9 3 & ?

(1) Ysievil

(2) ~udls wdlan

(3 g5l

(9) 32 Ra-ll 2wl

Gy wla Rseuinidll Al e
QA sisvifl wAde 53 :

(A) WA (1) 21 (4)
(B) WA (3) A (4)
(©) (1), (2, 3) 2 (@)
D) i (2), (3) A (4)




61. Assertion (A) : The literature of

52.

the new public

administration is

anti-positivist.

The new public

administration

rejected the defi-
nition of Public

Administration

as value free.

Select the right option :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true
but (R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Match Books in List I with Authors

in List II and select the correct

answer from the codes given below :

Reason (R) :

List I List 11
(Books) {Authors)
(a) Bureaucracy in Modern (1) Joseph
Society La Pzalombare
(b) Max Weber : Intellectual (2) Warren Bennis
Portrait
(¢} Bureaucracy and Political {(3) Peter M-Blau
Development
(d) The Temporary Society (4) Revihard Bardix
: (6) Alvin Gouldner
Codes :
@ B @ (@
A & @ 1O @
B @ & A1 @
€ & @4 QO @
™ @ @ M @
Poli. Sci -1

51. [@Qaid (A) @ dal Az adlded
Alecy T TR

[l 8.
5HIA (R) : Hdl ASR adlae s

52.

(@)

b}

(c}

i)

23

adlaz yey dlzla ®
d datdd 53,
Al [Qseud]l wriesfl s3t :
(A) (A) A (R) il A D 314 (R)
2 (A) -l Rl v 8
(B) (A) 2l (R) il AL B wA (R)
2 (A) -l ARl veui el
©) (A) A & v (R) Wig &
D) (A) “ig & wa R) w3y &
AL T Hi »ulal yasiA 2l I 4
A0e Avsl Wl Asi
YAl 1
(yaasi)
oyiso Hisd )
Al
A5y A6R A4 (2
Sred sy vigse
6y3isl =S @)
yeldlsd Sagui-e
¢l 2793 AW @

Jdl o

(Qusi)
AAs @l
widixeirl
Qi S{ly

Ylez 4.

221IE]
Idlels
ouslsy
) iled
JUEesHR

5iS ;

(@ = (b) (e) (d)

a 6& @ QO @
B @ @ (1) 4
) By @ (1) (2)
M @ @ (1) (2}

PT.0.)



53.

54.

55.

The
administration is :

(A) Public Accountability

watchdog df  public

(B) Uniformity of Treatment
(C) Service-Orientation
(D) Political Direction

The District Collector’s role in the
field of development administration
is mainly that of :

(A)
(B)

Mobilisation of resources

Actual implementation of
policies

()
(D)

Making of developmental plans

Co-ordination of

implementation process

Which of the following statements
1s not correct with regard to the

Comptroller and Auditor General
(CAG) of India ?

(A) The CAG has been awarded a
fully independent status

(B) The CAG can be removed only
on the recommendations of the
President

(C) The salary and the emoluments
of the CAG are charged to the
Consolidated Fund of India

The tenure of CAG is fixed for
8iXx years

(D)

Poli. Sa.-1I11
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M ddlde Y EuIu LR
Yo 59 :

(A) AR Gurellde
(B) dde-l wisyotdl
(C) Adl dsv, adnt
(D) xS R

(asial adlasui [Feal sdse-l
oSl Huaed sun sl © 7

(A) AWaddiql ssAflsami

(B) Qi wrdl@s s3ani
(€) Rsnu-dl digtslidl asdui
(D) el uBFu-l qAig-ui

‘Se1a3 wid wilde: wrd s

dlFsu’ L dsel A Usld sy Qi

AR Al ?

(A) du-d AYSId ada exwd
ALUHL 2L B

B) Ht wgdla-dl sl ddq
clgl uHl g2 531 wsia

(C) AH-l WAUR 2 HerAdieul w2
adl ‘fsivuicflses §977 i
WSAML 219 6

(D) Ax-l Hed 9 a3l e APad s34
£



56.

97.

Which of the following functions are
performed by the Gram Sabha ?

(1) All - public problems are
discussed
(2) Village budget and

programmes are framed

Beneficiaries of various
government programmes are
1dentified

(3)

(4)

In order to keep a watch on the
Panchayats, a Vigilance
Committee is constifuted

Select the correct answer :
(A) (1), (2) and (4)
(B) (2), (3) and (4)
(C) (1), (2) and (3}
(D) (1), (3) and (4)

The Constitution (74th Amendment)
Act, provides for which of the
following ?

(1)
(2)
(3)

Municipal Committees
Ward Committees

Committee for District

Planning

(4) Committee for Metropolitan

Planning

-Select the correct answer :

(A) (1) and (3)
(B) (2) and (4)
(C) (1), (2) and (3)
(D) (2), (3) and (4)

Poli. Sei-IIT
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56.

57.

et glzl 0 UsiAi sul sl
s2q1Mi d % 7

(1) aqd ey uaidl »al saami
219 9
(2) duMd elust A sidsHig

8Sd syl 2ud &

AsAL [y sidsviqAl
el drRaai 2«9 ©

(3

YAIYd Y U3V UL HiE WS
kel dAQT Al wd

-

13

(1), (2) 2 (4)
(2), (3) 2 (4)
(1), (2) i1 (3)
D) (1), (3) 241 (4)

oy Ui elarelly yal gl 9+l
ot sl 2udl ?

(4)

(A)
(B)
(C)

1) ylRRua sl

@) dis s[lR

(3) Rreail auulo wedl R
(4) HslR al el uldd
Guz UWhla syl [asew wa & 7
(A) (1) =t (3)

(B) (2) 21 (4)

(€) (1), (2) i1 (3)

D) (2), (3) ¥ (4)

[P.T.0.]



58. Who are the Chairman of the 1st

59,

60.

Administrative Reforms

Commission ?

(A) Jagjivan Ram

(B) Jay Prakash Narayan
(C) Morarji Desai

(D) George Fernandes

Which of the following reports
recommended the establishment of
the institutions of Lokpal and
Lokayukta ?

(A) Gorawala Report
{B) Appleby Report

(C) First ARC Report
(D) Ashok Mehta Report

The Chairman of the District
Planning Committee forwards the
development plan recommended by
the Committee to which one of the
following ?

(A) The State Government

(B} The District Development

Officer
(C) The District Collector
(D} The Chairperson,
Parishad

Zilla

Poli. Sei—III
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58.

59.

60.

Yddl adladl Yeieu YAl e st

sdl ?

(A) %AWt AR

(B) %4 U513 A48
(C) HIRRD ALY
(D) il s-il-slu

2 YAl s vduei disvie »n
distysa-l el @indL saidl
MM s3dl 8 7

(A) dlildlel Hdcie
(B) aluasfl 2daia

(C) uddl aéladl yule Yyl
vl

(D) 2ALE USdl e

[Breett 2iuioq Al a8 gl
AP Y2de [AsiA Az siA R4l

sABl 20d 8 7
(A) UFY AR
(B) [¥eal [asin 2B
(C) [real s@ser

(D) [ear wAMel vieug



61.

62.

63.

Weapons of mass destruction

include :

{A) Nuclear, chemical and

biological weapons

(B) Nuclear, conventional and
biological weapons
(C) Chemical, ballistic and

biological weapons

(D) None of the above

Modern state system is believed to
have started with :

(A) End of the First World War
(B) Peace of Westphalia

(C) End of the Cold War

(D) Concert of Europe

New International Economic Order
{NIEO) :

(A) is the economic system
structured after the Cold War

(B) was the demand of the rich

countries to change the

economic system

(C) was the demand of the ‘global
south’ the

international economic system

to change

(D) is the term used for capitalist

economic system
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61.

62.

63.

AHEUDS ALl WLl Al AL
s g & 7

(A) 4Baxz, s »a FRs
el

(B) ~4(3aaz, uaulisod w1 %[Qs
AWl

(©) s, vaues 2w $[s
e

M) Gunidl x5 ya Al

28R 2wy weudldl 1A U4 5
gorll o1t 2UI6L VY HiddMi g
& 7

(A) My [Azqygel »id
B) de3(au-dl uil
(€) lld yg-il id

D) Yu-l sué

Yl wvtidndly 2ulls oqq’
wed :

(A) ld 4 eue UL 219 2ul3s
waudl

(B) uyg Ul s yeudld
sigeal el Hisefl

(€) ““vdloia WGy’ «l id Ay
{35 netlell etsdar Hi-ll siavel]

D) ¥slalel vedaqqein agfaal -
slot

[P.T.0.}



64.

65.

66,

The Balkan Peninsula is located
in :

(A) Central Europe

(B) South Western Europe

(C) South Eastern Europe

(D) None of the above

What is meant by global

governance ?
(A) World Government
(B) UN Security Council decisions

(C) An international system

regulated by great powers

(D) A loose framework of global
regulations and norms through

institutional arrangements
‘Intifada’ reforms to :

(A) The Iranian revolution

(B) Popular uprising of

Pale stinians in the late 1980s

(C) Popular uprising of Arab

people for democracy

(D) None of the above

Poli. Sci—III
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28

ofies [Qusey sui 2wddl 8 ?
(A) e 3RiU

(B) elie ulBaud YAy

(©) efa yd yriu

(D) GuHidl s wa dl
ciold A’ Hed g ? '
(A) [Q=q w2512

(B) 2ysd el aaridl uAa gzl
Aada (el

(C) Hetdnixl gLl [RyBs

Aidzindly weuel

@) sy waul gzt Qedl
522¢ ARas Rxel v yedld
ddg, 1Ay

‘Seellstel’ siqll wa Astudd & ?

(A) dun-l sila

(B) 1¢¢0 -l susl vilan aslxi
VA5 st gl sddl
alsAnqa

(C) disel HI2 0L i
Guddl eisunqan

(D) Guanidl »ts wa -l



67.

68.

69.

70.

Which among the following is the
principle of India’s foreign policy ?

(A) Anti-racialism
(B} Anti-colonialism
(C) Non-alignment
(D) All of the above

India’s “Lock East” policy involves
relations with :

(A) Indonesia
(B) Thailand
(C) Malaysia
(D) All of the above

The ‘Line of actual control’ exists
between :

(A) India and Pakistan
(B) India and Nepal

(C) India and Bangladesh
(D) India and China

The features of India’s nuclear
doctrine include :

(1)
2)
(8)
(A)
(B)
(8
(D)

Minimum nuclear deterrence
No first use of nuclear weapons
Global nuclear disarmament
Only (1) is correct

Only (1) and (2) are correct
Only (1) and (3) are correct

All of the three options are
correct
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67.

68.

69.

70.

3 Y4l sql curdia REaARAL
Rigid & ?

(A) duatel @y
(B) Acue-i [Qig
(C) [Bisieale

D) GuL ddA

oudll ““ud d2s A’ AR sl
A Asnddl & ?

(A) S-sialat
(B) wddrs

(©) Hadlau
(D) GUL dHIM

“lRsa-l ardalas 3vi’ sidl g
Al ¢ ?

(A) SRd 2 Wi
(B) eitkd ¥+ g
(C) ®iRd A sildaIEy
D) lkd uA Y4

SlRelrll WY, Rigidel Yoo daeal
¢ :

D
(2)

AfgTid UMY [Rare

UMY il e GualoL A
534

aPas wamy Feallsg
Hist (1) A3 8

L (1) A (2) w8

HIBL (1) 2 (3) WAl &

MM AR [Aseul i 8

(3)
(A)
(B)
)
(D)
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71. The following are the sources of 71,

International law :
(1) Conventions

(2) Judgments of International
Court

(3) : Treaties

(4) Books and Journals

(A) Only (1) and (3) are correct
(B) Only (2) and (3) are correct
(C) Only (1), (2) and (3) are correct
(D) All of the three are correct

72. Which of the following statements

is correct ?

(A) Classical realism gives
preference to national security

over economic development

(B) Neo-realism gives preference to
economic development over

national security

(C) Classical realism subscribes to
the idea of international
systemic structure as key

determinant of state behaviour

(D) Neo-realism subscribes to the
idea of arms race as a means

of achieving national security
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72.

Aldz gl Ry wd ©
(1) uenfesal

(2) Mid AL Heleddl AsIBlil
(3) il

(4) YRdsi e WS

(A) oL (1) ¥ (3) wwl &

(B) ML (2) ¥ (3) WAl &

(C) At (D), (2), (3) WAL B

D) ax AR [Asey AL 8

3 V44 sy Qa wy 8 7

(A) we{la ardadie s sl
ga-rl Andla yreud au?
e 2 B9

(B) dadatxdadle sl yau-l
da-idi 2ls [AsAd qaR
Heed AU &

(€) ara{la ardaate epu-ll adejs-
Falus uRom ddd 2uid Al
weneldl A 2l O

(D) -daldaale UNlA ya We
folivll gisdt Qi wnde 53
&




73. The World War II started in :
(A) September 1939
(B) October 1939
(C) November 1939
(D) December 1939

74. The International Criminal Court

hears cases of :

(A) War Crimes

(B) Genocide

(C) Crimes against humanity
(D) Al of the above

75. Samuel Huntington argued that the

future wars shall be fought along :
(A) Territorial and political lines
(B) Cultural and religious lines

(C) Economic lines

(D) Racial lines

73 (gdlu [Qsaye s w3 uy ?

(A) A2z 1939
(B) iseloz 1939
(C) 42 1939

(D) [SA»42 1939

couldndla wyEl welad su

5AA Yrvanfl 53 & ?

(A) YeMi 2UAUAEL -1l
(B) <l elR

(C) Hiadt [Qgrl vl

D) GuUIdL

. Ay e Adl edla s D 3

Al Ygi 21 Rousia »ual

asigl ¢

(A) Mefs xnA Awsly Qs
(B) iglas 2« wlls Qoeus-l
(©) »uls (ot

(D) dglla Reuw-l

Poli. Sci—IIT 31

[P.T.0.)




ROUGH WORK

Poli. Sci.-1I a3



